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1. Suppose & is a group such that every nontrivial element of G has order 2. Prove that &
is abelian. Give an example of such a group that is not isomorphic to Zs.
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2. Prove that a group whose order is a prime must be eyelic.
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3. Let H = {ov € Sq2 (1) = 1} with n = 5. Prove that H is a subgroup of S,. Prove or
disprove that H a normal subgroup of Ss.
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4. Let H be as in the preceding problem. Suppose 3,7 € Sy with 3(1) = «(1). Prove that
(3 and v belong to the same left coset of I,
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5. Suppose & is an abelian group whose order is odd. Prove that ¢ : G — G given by

¢(z) = 2? is an antomorphism of G.
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